A(n) - IS a graph of the ordered pairs (X, ¥) of numbers consisting of the indepaendent variable x and
the dependent variable V.

 SCatter plot

frequency polygon
O Ve

Lime series graph
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csocond Exam STAT 110 Second Semester 1

5 of 32 “Having a large shoe size and having a high score.” These events are said tobe .......... mdl

5 mutually exclusive
¢y certain
dependent

independent

x 8 3 :
“ " |
o A AN i
e " !




Second Exam STAT 110 Second Semester 1437-1

6 of 32 If the regression line equation is y' = 3 — 0.27 x , then the correlation coefficient is..........

) positive
O - 0.27
() hegative
O3

= I—— A TRT

A ¢ s \"SSS
o ' s KN

v M 13 12 E
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Second Exam STAT 110 Second Semester 1437-1438

Box 1 contains 2 red balls and 2 blue balls. Box 2 contains 3 red balls and 2 blue balls. A die is rolled. If
the number is greater than 4, box 1 is selected and a ball is drawn. If the number is less than or equal 4,
box 2 is selected and a ball is drawn. Find the probability of selecting a red ball.

‘ -_;n l . ‘
> 0.833
C ) 0.389

¢ 0.567

<—.—-4 .‘l* wV' g <
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Second Exam STAT 110 Second Semester

11 of 32 The chance of an event occurring is called.........

O) lrobablllty
oy probability experiment
< probability distribution

¢ outcome

= 8 o
" 23 3

o 2B 38 3
A >

L alwl pacue < JUN Jlduu)l
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Second F x

An urm contains brown balls and white balls. A
- A parson selects two balls without replacement.
probability of selecting a brown ball and a white ball is 0.20, and the prob.bal‘l‘ty of selecting Q"I::u\

ball on the first draw is 0.42, find the ility of l
crrogieisl e sy b.'ffobabc ity of selecting a white ball on the second draw, given M

D 0.220

. |
am STAT 110 Second Somester 1437-14381
|
|
|
|

{ ,\o.m
> 2. 100
(5> 0.4/76 |

S 9 © 7 [ >

e 13 12 u BB
e 8 \’ 16 a
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Second Exam STAT 110 Second Semester 1437-143ql

If (x) is the number of exercising hours and (y) is the weight, choose the regression line equation that
represants the following statement: When the exercising hours increase 1 unit, the weight decreases
(1.32) kg on average.

Oy =-=4-1.32 x
y Yy - 1.372 + 4 x
y y'= 1.32 -4 x

’

OYy=—4+132x

i 14 13 12 i 10
1o "

"’ "o 'ﬂl
o T T




second Exam STAT 110 Ssecond San Ster 18 L9

lhe grados obtained by five students in both STAT and MATH exams are shown in the following table:

B8 BN SO NN R i

l TN IS AN N I O
Compute Spearman rank correlation coefficient.
0.9
9
0.1

{) 1

u Al ) Y
. T > 2 ' .
“ 7 © >
14 15 12 11 10

v
19 LB "’ LR ™

T ali.v ¥ Hnaoue <\N“'J'M' ‘yw' J'M

(bt rrwrearh P mgtom bemrwmmed 153 Ky Abebhd Aste 5w our ity

F £
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Second Exam STAT 110 Sec ond Semester 1437 143

12 of 32 How many different ways can S basketball players and 4 football players be selected from 7 basketball

> 36
(> 907, 200
{ n()441

15

[ ) / ali.oW Adni
=Y 0 7 ™ .
i1 13 m 12 10

> 19 18 7’ 16 5
A >N > e i

Y ali.w ¥Vl nacose < U \-"w. el U
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ke The table below represents a selection of snacks purchased at a cinema according to gender:

Jq Hot dog Peanuts ropcorm ! Total

Men | 4 (8 18

waomen 4 1 > 14

- e -
Tols R 10 [ | 10D

|

If a customer is selected, find the probability that the customer is & woman or purchased peanuts

0 1 kJ Al o
Uv.3
2 g ] 7 6 3
' 14 m 12 11 10
T 18- 27 16 1%

*A e . L o
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4 of M A committes contains 8 membaers, 3 of which are men. If 3 members are selectad at random, find the

probabiity that one of tham is &a man

wJ ’
- 9 n F § “ “
BN 2 2 o0 e

LA LR 7’ 6 15

. e »y e "y
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The table below represents the college degrees awarded in a recent academic year according to gender:
—— T

Bachelor Manter Doctorate ot
SMen R} [ R % 16
+ # 4
women : 1 - 4 “9
4 — D - '
Totas 4 27 L) 45
_ - A . {2 A -
If a parson Is selected, find the probability that the person is a8 woman givan that she has a master
degree.
L 10)
£ i) “J;
|
0. 444 ~ 1n L 12 1 10
19 e 17 16 m
24 223 22 21 F

N

L A .« - .- -e
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Which of these cannot be considered a correlation coefficient?
1.89
0.89
O

IRt

J
~ 14 13 A2
o e R
“w 24 23 22
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e of ) A recent study found that 40%; of Amencans suffer from great stress. If 3 peopie are salected at

random, find the probability that all of tham suffer from greaat stress

(.

LR LR ‘2 B LR

9 in \ 7 '!. "
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QU U Al

In a club there are 5 women and 4 men. If a committee of 3 people is selected, find the probability that
at least one of them is a man.

0.048
, 0. 881
0.95%7

0119

(W \J
& S0 13 12 ' A0
o I 17 16 as
R 23 22 21 20

- - s L -e -e

T -\l...-‘\‘l.ua.\.u




cacond Exam STAT 110 Second Semestearn

20 of 32 How many ways can 6 employees be seated on a stage?

720
O

46,650

249 23

Y ali.wyl mnacus < JUN Il
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Second Exam STAT 110 Second Seamaester 1437 -

21 of 32 If A and B are mutually exclusive events with P(A)=0.25 and P(A or B)=0.4, then find P(B).

> 0.15
3 0.6
0.1
. 0.65

‘i b 18 r\r
24 23 12
w 29 28 27

s -~ -

4 ali.uil pacoss < JUN Jij .l
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22 ol A2 A:d'\ooldwtﬂctoonuim4m.chools,Smlddo.d\ooh.andﬁwd\sd\ooh.lftm.d\odcm
memMMutmw,wmemmebmaMmmNm

(530,250 |
(30057
1 0.167
¢ 0.071)

SR~V orie,

~ 19 e 17
23
2

0 15
PR n 20
2% m 226 25
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MECONO EXaM STAT 200D Seroong Soemester y = -

th.a: bv:«: study the relationship between the age of a house and its price, the correlation coefficient
cCou -

- 0.8

0.9

0D 0%

= Y
~ e 1) 7 i 5%
o ) 22 =
'

Ad .
' e f LR D




e following date are recor

=10, Yx=116, Y. y=T70, Y xy = 50, and 2 = 120

The eguation of the regression e in:

J
y' N0.212 + 0.627 x
v 0.6272 217 % -
-~
V. J.056 + 2.90/ x ad
29
v 2.940/7 7 056 x
“

["
alia
18 7
23 22
2R
32

Y el meose BPRNTRTNTTORT !
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Answer the attached guestion:

The following data are recorded

-
”" O W 106, > » 0, S xy =50, and ) 120

he oguation of the regression hae s

u J _ Ve R
e 18 L 16 1%
~
i1 23 42 21 240
29 0 m 26 2%
-
12 31 0

W*h.ﬁhmwhm




Second Exam STAT 110 Second Saeamaeaster 1437+~

Find the sample space for tossing three coins,
S M T)
3
S {(HHH HHT HTH, THH, TTH, THT_HTT, TTT)
B

e in Ly L

”~

24 23 22 21

29 28 27 26 .
= 32 31

ali o\ »acia < SJUN Jld YL |




' of X If an event E cannot occur, then its probability equals:

0 < PE) <1

)

~ 19 i8 L 16

=

23 r2 21

2n 27 76
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>0cond Exam STAT 110 Second Semasta: A9 37-1438BHM

g8 OF A

Cards are numbered from 1 to 10. If a card is selected randomily and the number of it is noted, then It is |

replaced and a second card is selected, find the probability of getting an even number and an odd
number.

0.278
1

0 2%

Gl V1 PIR.0008
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soacond Fxam STATYT 210 ¢

Second Semester 1

If the correlation coefficient between two variables equals (- 0.12), this means that the relationship
between the two variables is:

strong negative

weak positive

weak negative

strong positive

/ ¢ L i | B ba
e N s 6 5
”~~
PR FE 42 23 20

P e 27 26 2
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0% of electronic games players play «

ntine. If 3 plavers are sel
that at least one does not play online oy Seiactad st random

, findd the probhatyin

y
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ond Exam STAT 110 Second st
of 32 If a die is rolled one time. find the probability of getting a number greater than 2 or an odd number
0.833
0.333
]
1.167
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